=> restart

> f=exp(2-t)
i f=e (1)
> plot(f,t=-3.3,y=0.200)
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> a[0] = %-im‘(f,tz—L..L) evalf (%)
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> a[n] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", %-int(f-cos( n-LPi -t), t=—L..L))
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> b[n] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", %-int(f-sin(




> STF := % +Sum(a[n]~cos( n-LP1 -t) —I—b[n]-sin( nLPI -t),n=l..inﬁnily)
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> STF500 = % +sum(a[n]-cos( n-Pi

-t) + b[n]-sin(
> plot(STF500, 1=-3.3)
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[> plot({STF500, 1}, t=2.2.1)
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> STFI1000 = @ +sum(a[n]~cos( n-P1

L

-t) +b[n]-sin( ”LPI -t),n=l..1000) :

> plot({STF1000, [}, t=2.2.1)




=> restart
> g = tz
> L:=1
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> plot(g, t=-L..L)
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> al[0] = L~int(g,t=—L..L)
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> a[n] = subs(sm(n-Pl) =0, cos(n-P1) = ( —1) , Z-mt(g cos( 7 -t), t=—L..L))
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a = % (10)
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> b[n]:= subs(sm(n-Pl) =0, cos(n-P1) = ( —1) , I-mt(g sm( 7 't), t=—L..L))
b, =0 am$
> STF = %O] +Sum(a[n]-cos( n-LP1 -t),n=1..inﬁnity)
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> STF1000 = @ +Sum(a[n]-cos(

-t), n=1 ..IOOO) :



> plot(STF1000, t=-0.9..0.9)
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> plot({g, STF1000}, =0 ..0.003)




=> restart
>hi=¢r

> plot(h, t=-1.1)
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STF =

n

> STF := Sum(b[n]-sin( L

>

b
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> a[0] == %'int(h, t=-L.L)
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a, =0

> aln] = subs(sin(n-Pi) =0, cos(n-Pi) = ( —l)n, L-int(h-cos(

L
a =0
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> b[n]:= subs(sin(n-Pi) =0, cos(n-Pi) = ( —l)n, L-z'nt(h-sin(
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> STF1000 = Sum(b[n]-sin( n-Pi -t),n=l..1000) :
> plot(STF1000, t=-0.9..0.9)
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;> restart
> f:=-Heaviside(z +2) + 2 Heaviside(#) — Heaviside(z —2)
f:= -Heaviside(¢ +2) + 2 Heaviside(¢) — Heaviside(z —2) 19)

=> plot(f,t=-3..3)
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> STF := Sum(b[n]-sin( ”L

Pi 'Z) ,n=1 ..inﬁnily)
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_> L:=3
i L:=3
> al[0] = %-int(ﬁt=—L..L)
a, =0
> a[n] = %-int(f-cos( ”fl -r),z=—L..L)
i a, =0
> b[n] = %-int(f-sin( n-Pi ~t), t=—L..L)
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STF = - + sin( nnt) (24)
n=1 nm nr 3

> STFI1000 = sum(b[n]-sin(

n-Pi

-t), n=1 ..1000) :
(> plot(STF1000, t=-2.9..2.9)
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(> plot({f, STF1000}, t=-2..-1.9)
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